
Multiply and Divide by 10² (G)Find each product or quotient.
71 × 10² = 62 × 10² =
67 : 10² = 93 : 10² =
86 : 10² = 82 × 10² =
61 : 10² = 82 : 10² =
64 × 10² = 28 : 10² =
52 × 10² = 30 : 10² =
68 × 10² = 5 : 10² =
8 × 10² = 99 : 10² =
12 : 10² = 93 × 10² =
61 : 10² = 51 : 10² =
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Multiply and Divide by 10² (G) AnswersFind each product or quotient.
71 × 10² = 7.100 62 × 10² = 6.200
67 : 10² = 0,67 93 : 10² = 0,93
86 : 10² = 0,86 82 × 10² = 8.200
61 : 10² = 0,61 82 : 10² = 0,82
64 × 10² = 6.400 28 : 10² = 0,28
52 × 10² = 5.200 30 : 10² = 0,3
68 × 10² = 6.800 5 : 10² = 0,05
8 × 10² = 800 99 : 10² = 0,99
12 : 10² = 0,12 93 × 10² = 9.300
61 : 10² = 0,61 51 : 10² = 0,51
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